H oY

%%%
I

1. ¥¥4
EW4 SF6AEE  omBER « T R OVAIEDER R v U — 7 HiRtih
%
JEATYHT FUPN H 75k fe3 7 P
2. EBEAR
1) FEF4 TERES EREEHES R
2) BT 163 HH H &f1 64 TAH11H

£ Af 64:12H20A

3) &FEtHM
AR, BB RBINT — 2 OEEE - T, WONDIROER R v T — 2
BT 24T « R EATV, AR OB HEREHI T T OIEREE R 215
LT EHBE LEEEBETHD,

4) FEHBNA
BE TEERRILR) D LBY

o ELASEE TN



¥4 | BR6EE AEEER - AT R OVREGERE R v b U — 7 iEsh ¥ REEH
% H A S R RN O BN AR
THHE - THE - R BT B & 4 OB RR
A AR FHIRAT M OVAIRGE BENWRR R = 1 9, 950, 300
AR LI T — & SR - AT 2V 1 2,671, 900
A i LI T — & SR - AT X 1 2,671,900 | A AT BT X D 28l s L E
1 X
RBERTEICHWD T A—H 5D
HHT 1 X
A ET — X DFENT
1 K
IIEH y MU — 7 BEIZ L B 2V 1 5,017, 300
Br - kgt
JIBER T > U — 7 BEIC L D5y X 1 5,017,300 | HEARIEHERORD B DIEEE - &EID
Mr - fEt st 1 =X
B D AT Z DN T O
1 X
AR A v b U — 7 I X B 2V 1 2,261, 100
X - o
JEEE R v b U — 7 B & D E A 2V 1 2,261,100 | F—ZILE - 57
R - oW ! X
F—BWER R TV T T
— NAA 1 =X
AT
1 =
LA = 1 591, 500
Him (GAA - FHEES) = 1 591, 500
Frewss: = 1 591,500 | T&E
1 =
EHERE v 1 329, 072

-1- E+sZi@E SN



==
=]

m
2
%

¥4 | DR6EE RBEER - TR OUREGER R~ N U — 7 Eth E BOES
% HH [ERES S
THH - T - fER] B fr ¥ & 4 % OB RR
[ERE5 S = 1 329, 072
TRE RS m 2y 1 157,072 | k% (REtE - @A)
1 X
Ty AT 2 1 172,000 | FEFRCRALTERCEE
1 X
EEEM (F s MR <) 2y 1 10, 870, 872
Z DA =X 1 5, 676, 759
— R A = 1 8, 902, 369
SRR = 1 25, 450, 000

-2 - E+sZi@E SN



